4A - Probability – Lesson 05
Relative Frequency – Equally Likely Outcomes.
Name: _________________

1) Do we need to have equally likely outcomes for probability theory to work? Y / N
2) Give an example of unequally likely outcomes.

3) If S = { ♠, ♠, ♠, ♣, ♣, ♥, ♥, ♥, ♥, ♦}
P( ♥ )
= 


as a fraction.



=


as a decimal. [Hint: 4 ÷ 10]



=


as a percentage. [Hint: x 100%]

4) There are 26 letters in the alphabet.  What is the probability if picking a vowel [to 4 decimal places]
5) A bag contains 20 counters: 5 green, 8 blue and 7 red.  What is the probability of picking a:

a)  Red



b)  Blue


c)  Green

6) A standard deck of cards contains 52 cards.  What is the probability of picking:
 
a)  an ace.


b)  a red queen.

c)  the 7 of clubs.

d)  a spot card.

e) a picture card.

f)  a card less than 4.
7) The longest place name in Australia, according to the Guiness Book of records, is Mamungkukumpurangkuntjunya (26 letters) in South Australia.  The letters are placed on cards.  What is the probability of picking:
a)  an A



b)  an M


c)   an I

8) The longest place name in the world, according to the Guiness Book of records, is Taumatawhakatangihangakoauauotamateahaumaitawhitiurehaeaturipukakapikimaungahoronukupokaiwhenuakitanatahu (105 letters) in the North Island of New Zealand.  The letters are placed on cards.  What is the probability of picking:

a)  an A



b)  an T


c)   an I

9) The prime numbers 1, 2, 3, 5 are written on cards.  They are made into 4 digit numbers.  What is the probability that the number is:
a)  even



b) greater than 500
c)  divisible by 5

10) A dice is thrown.  What is the probability of throwing:
a) a four



b) a number < three
c) a number ≥ four
P(E) =





Number of favourable outcomes


Total number of outcomes
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